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DEPARTMENT OF MATHEMATICS

Verify CGanss Dhivergence theorem for the vector function

14, | F = (x¥ — yo) — 2x%y] + 2K over the cube bounded by 15 | K3 |co1
s=0y=0z=0md s=a,y=a,. =4
Verify Stoke™s theorem for F = (x® +¥2)1 —2xy) faken

15, 14 K3 | CO1

round the rectangls bounded by thelines x = ta.yv=0,y = b
Vernfy Stoke s theorsm for

16. | F=(y—z+21 +(yz 4+ 4] — xz k over the cube 15 | K3 |co1
boonded by x =0,y =h:=0mdx=1,v=1z=1.

Verify Stoke’s theorem for F = (x* —y%)1 + 2xy) wmken

17, | ound the rectangls boundsd by the linesx =0, x =a, y =0 15 K3 | col

¥y=bh.
UNIT - 11
Unit- I / Part- A/ 2 Marks
S.No Questions 1:;;; ,::_rl_l i
1. | Solve (D*+35D+4) =0 2 K2 | CO2
2. | Sowe T 2P _ay_g 2 | k2 | coz
Fk [Fay
3. |sewe £X_16y 2 | K2 | coz
4, Sobve (D' —2D" + D*)y=0. 2 K2 | Cco2
5 | Solwe(D*_2D%41)y=0. 2 K2 | co2
B, Solve '™ £ 29" ¢ = 0. 2 E2 | CO2
7 Sobve (07 + 10y =0 2 E2 | CO2
B Sahre (D7 +0y =™ 2 E2 | Co2
o, Find the particular integral of | D° —4 | y=a™. 2 E2 | CO2
10. | Find the particular intepral of (D° +E)y =™ 2 K2 | co2
11. | Find the particular intepral of (D —a)y=e® 2 K2 | CO2
12. | Find the particular integral of (D—m) y =™ 2 | K2 | coz
13. | Find the complementary fimction of (D +4)* =cosx 2 K2 | co2
14 Find the particular intepral of (D" + D)y =sinx 2 E2 | CO2
15. | Find the particular integral of (D -1) =sinh Ix 2 K2 | coz
16 | Find the particular integral of (-1} p=ceosh2x 2 K2 | CO2
17. | Find the pardcular intezral of %++ —sin2r. 2 | K2 | coz
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18 Find the particular integral of (D" +.D0)y =sinx 2 E2 | CO2
19 Find the particalar integral of | 07 + 2 p =z’ 2 E2 | CO2
20 Find the particalar integral of {i7+1) p=e~cosx 2 K2 | CO2
21 Find the particalar integral of {07 -2+ 5|y =" sin 2x 2 E2 | Co2
22 Find the particalar integral of (D' —1D +35)y=e"sinlx 2 E2 | CO2
Ld'y dy
73 Baduce the equation ST+ =0 1o homogeneous 5 B3 oo2
differemtial equation with constant cosffcionts.
24 Solve(r'D? + xDNy =0, E2 | CO2
25 Solve r::."—‘?ﬂ. +"":.'—[lI K2 | CO2
'\-'- _._ _— i '\u'-i - L . -
26, | TRSENIR (x+3) oo —(r+2) iy —Irsy M 2 | Bz | coz
differemtial equnmnvrmh-:-:-n'tm coffcients.
Eliminate x and find the equation in v from
27 i = i ﬂ:—_"+2:.'—;.+-l}. 2 B2 Co2
ar i
Unit -1l f Part- B / 16, 8 Marks
5No Questions spiinup | Lovet | ©°
1 Salve (I¥ +4D+ 3 y=e " sinx+xe". g 2 | ooz
2 Salve (4D —4D =1y =4, gq K2 | coz
Saolve (DF -4+ 13y =@ sInix g K2 | co2
4 Solve (IF 50+ y =de™ + 1. g K2 | Ccoz
5 Salve (D7 +4)y =x" cos 2x. 3 K | co?
& | Solve (D +18)y —cos'x. 8 | k2 | coz
7 Salve "' 2§ + y=xe‘dnx. g w2 | co2
g Solve (IF +4D + 5w =e“ +x" 4+ cos2x + 1 g K2 | co?
. Solve (D + a*)y=tanay by the method of variation of g w2 | coz
parametars
10, Solve (I +4)y =zec 3x by the methed of variation of g k2 | coz
parametars
Solve (I -4+ 3]y = Ty the method of vanaton of g ¥z | coz
= e 2
12, | Solve ¥ +2y=cotix by the method of variation of parametsrs 3 K2 | CO2
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13, Salve (I +1)y = rsiny by the methed of variation of g w2 | oz
DATAMEtSTs
; Salve {I* + 1)y = cosecx by the method of variation of
14, 5 bors 2 Kz | CO2
: Solve x° u— til 4y =z’ +oos{log X
15. e 4 ax ! 2 K3 | CO2
; log x
16, | Salve {(x’D¥ —xD+Dy -| — | g K3 | CO2
17. | Solve (r'D’ —3xD+ 3y =1 5Ir_"]-n5.t} a K3 | CO2
18, | Solve xr*—— ay — + ti— Yy=kog xsinlog x) g K3I | CO2
o™ a
19. | Solve (3r+1) %+3(§1+1]§ _36y=3rt s dr+l. g8 | k3 | coz
20, |Solveqgl+x@ D+ 14+ 004 Ly =4 cosflogil + x7] d K | CO2
21, Salve ((1+xV' D +(1+xX)D+1|¥ =2zinlogl+ x) g K3 | COZ2
22, | Salve :r—z}:%—(:—2}%+3--3:—+. g | ®3 | coz
Salve the sinmlitanecns egquations
3. ﬂ—"r—ﬂ -5t i—_-nr 2y = 0 prven thar (0] = 08 {0 =—1. 8 K3 | co2
gt ot
Salve the sinmltanecns egqoations :'—:+ 2y + sint =
24 2y 8 K3 | CO2
G- 2x—cost=O0ghenthatx —Q0and y = 1 att
Salve the sinmltaneons eq.mri-:-uﬁ + 2y = bat ;
25, 4 ) 2 K3 | CO2
u—:— dx—hetpventtatx — —land y = Jatt = 0.
Salve the following simvlansons differential equatons
26 E—"*»-su:n it :i_'—lr-:ns.‘-_r 3 K2 Loz
gr o
Salve the following simaltaneons differential equatons
27 D4+ y=sindt ; —x+Dy=cosls e K3 [ Co2
Salve the following sinvlfansens differential equatons
28, %—:'—:— 2y = -!‘ﬂEE[_%+ i—"— 2x = ginlt B K3 | coz
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